	[image: image1.wmf]
	Lebanese American University
Electrical and Computer Engineering Dept



COE 211/COE 212
Spring 2013
G.Sakr
Quiz I (Solution Key)
Problem I (Multiple choice questions)
For each of the following questions, choose the single right answer.
1. What is wrong with the following class definition?
public class Program1 {


public static void main(String[] args) {



System.out.println(“Our first Java program”);

}}
}

a. The name of the public class cannot begin with a capital letter
b. The Java statement in the body of the main method is missing a “;”
c. The code includes too many braces
d. None of the above
2. A syntax error is
a. A compile time error
b. An error discovered by the interpreter
c. An error discovered by the compiler
d. Both (a) and (c) 
3. Consider the Statement String s=”-1234”; which of the following statements prints out -1 on the screen?
a. System.out.println(s.charAt(0));
b. System.out.println(s.indexOf(‘-1’));
c. Both (a) and (b)
d. None of the above
4. A literal value of 13.5F is treated as a literal value of type
a. double
b. int
c. decimal
d. None of the above
5. Which of the following is an example of a logical error?
a. Forgetting a semicolon at the end of a programming statement
b. Dividing by zero
c. Multiplying two numbers when meant to add them up
d. None of the above
6. Which of the following is an example of an invalid declaration statement?
a. int age = 30, money = 0, dollars;
b. int dollars;
c. int money; months; days;
d. None of the above
7. How many lines of output are generated by the following code fragment:
public class Program1 {


public static void main(String[] args) {



System.out.print (“Roses are red, \\n” + “violets are blue \t”);


}

}

a. 1

b. 2

c. 3

d. 4

8. To execute a program named First, which of the following commands should be used?
a. java First.class
b. javac First.java
c. java First
d. All of the above except for (b)
9. Java has eight primitive data types. Which of the following is not one of the eight primitive data types?
a. short
b. long
c. String
d. char
10.  11101 in binary is equivalent to 
a. 30 in decimal
b. 29 in decimal
c. 27 in decimal
d. 48 in decimal
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